
TO SUIT TOYOTA PRADO 150 Series 11/2009+  
All models

INSTALLATION
GUIDE

•	� Ironman 4x4 Recovery Points fit to the chassis

•	 It will take about 45 mins to install, or 10 mins if installed with fitment of bull bar

•	� Below is a list of required tools for installing your Ironman 4x4 Recovery Points:

	 -	 13, 17, and 19mm socket 

	 - 	 19mm spanner	

	 -	 Torque wrench	

IMPORTANT: Recovery Point installations should only be done by a qualified person and it’s the 
responsibility of this person to ensure correct fitment.

 D
AT

E 
OF

 IS
SU

E:
 0

11
11

8

IRP064

©Copyright 2018 Ironman 4x4 Pty Ltd. No part of this publication may be reproduced or replicated without the prior written consent of Ironman 4x4 Pty Ltd

IMPORTANT: Must be used in conjunction with an Ironman 4x4 Bull Bar



Page 2 of 4

IRP064Installation Guide

©Copyright 2018 Ironman 4x4 Pty Ltd. No part of this publication may be reproduced or replicated without the prior written consent of Ironman 4x4 Pty Ltd

1.	� Before installation check recovery 
points application is compatible 
with your vehicle.

2.	� Remove under trays.

3.	� One side at a time, remove the 
chassis support bracket. Disregard 
all bolts except for the two that 
connect the to the bull bar.

4.	� Loosen the body mount.

5.	� Insert the crush tube into the cross 
member. This may require a slight 
tap in.



Page 3 of 4

IRP064Installation Guide

©Copyright 2018 Ironman 4x4 Pty Ltd. No part of this publication may be reproduced or replicated without the prior written consent of Ironman 4x4 Pty Ltd

6.	� Using the M12 x 60mm bolt, flat 
washer, spring washer and nut; lift 
recovery point into position.

	

	

	 NOTE: From this step forward leave 
all bolts loose.

7.	� Use the M8 bolt, washer and 
spring washer to hold the top of 
the recovery point.

8.	� Use the M12 x 40mm bolt, washer, 
spring washer and pick up the 
captive nut through the rear 
bottom hole.

	 Insert the M12 x 100mm bolt, flat 
washers, spring washer and nuts 
through the rear top hole and the 
chassis.



Page 4 of 4

IRP064Installation Guide

©Copyright 2018 Ironman 4x4 Pty Ltd. No part of this publication may be reproduced or replicated without the prior written consent of Ironman 4x4 Pty Ltd

11.	� Re-install under trays.

10.	� Tighten all bolts. 

	 Ensuring the body mounts are 
tensioned to 55Nm.

9.	� Use the remaining 2 x M12 x 
100mm bolts, washers, spring 
washer and nuts to go through 
chassis.

	 Re-use the bolts retained from 
step 3 to connect the recovery 
point to the bull bar.


